Opérations avec deux fractions mixtes (J)

Nom:

N

w

10.

Date:

Calculez chaque résultat.

52 -1= =
53+ =
s} =
5%—2— _
5%—5%:
1%x5% =
sEx1) =
s;H15 =
2- +52 =
53425 =

Note:
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Opérations avec deux fractions mixtes (J) Réponses

Nom:

N

10.

Date: Note:
Calculez chaque résultat.
23 5 23 5 18 9 1
_ —]1- = - = ——— = — = = = 4-
> 4 4 4 4 4 2 2

51+2i—£+§—§+§—7_8—2—7
2 10 2 10 10 10 10 5

Lyl 26,20 126 63 _ 3

5774 574 20 10 10

1 5 16 17 32 17 15 5

3% T3 76T 6 66 2 0%

2 _g7 _ 17 8 8 8 3 _ 1

3 715 3 15 15 15 15 5

1 1 7 16 112 56 2

153 = %3 = T8 ~“ 9~ %

5 1 40 3 120 60

Rk R e e VU

1 3 21 7 21 7 28 7

gty = grte = gt =53 =1 %7
3 9 23 9 36 9

2373 T 17 T i3 T T 2

1 1 11 5 11 5 16 8

Bt =gty =3t =5 =7 =8
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